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Answers for Lesson 4-7, pp. 243-245 Exercises
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a. Given

b. Reflexive Prop. of =
¢. Given

d. AAS

e. CPCTC

Plan: Two pairs of sides are =. The third sides are the same
segment. Use SSS.

Proof: It is given that RS = UT and RT = US. ST = ST by
the Reflex. Prop. of =. ARST = AUTS by SSS.

Plan: Two sides and two angles are =. The other included
sides are the same segment. Use SAS.

I

Proof: It is given that OD = UA and LQDA = LUAD.

DA = DA by the Reflex. Prop. of =. AQDA
SAS.

AQET = AQEU by SAS if OT = QU. QT and QU
are corr. parts of AQTB and AQUB which are = by ASA.
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Answers for Lesson 4-7, pp. 243-245 Exercises (cont.)

11.

AADC = AEDG by ASA if LA = LE. LA and LE are
corr. parts in AADB and AEDF, which are = by SAS.

12-15. Answers may vary. Samples are given.
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1. AC = EC;CB = CD(Given)

2. LC = £C (Reflexive Prop. of =)
3. AACD = AECB (SAS)

4. LA = LE (CPCTC)

PO = RQ and £PQT = £LRQT by Def. of L bisector.

OT = QT so APQT = ARQT by SAS. P = /R by
CPCTC. OT bisects 2VOS so LVQOT = +/SOT and LPQT
and ZRQT are both rt. £.So LVQOP = ZSOR since they
are compl. of = 4. APQV = ARQS by ASA so QV = QS
by CPCTC.

msl = 56;ms2 = 56;ms3 = 34;mL4 = 90;mLS5 = 22;
mi6 =34 mlT =34, mL8 = 68;mL9 = 112

AABC = AFCG; ASA

TD = RO if ATDI = AROE by AAS. £ TID = £REO
if ATEI = ARIE. ATEI = ARIE by SSS.
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Answers for Lesson 4-7, pp. 243-245 Exercises (cont.)

22. AE = DEit AAEB = ADEC by AAS. AB = DC and
/A = /D since they are corr. parts of AABC and ADCB,
which are = by HL.

23. a. AD = BC;AB = DC; AFE = EC;DE = EB

b. Use DB = DB (refl.) and alt. int. 4 to show
NADB = ACBD (ASA). AB = DC and AD = BC
(CPCTC). AAEB = ACED (ASA) and AAED =
ACEB (ASA).Then AE = EC and DE = EB (CPCTC).

24. NACE = ABCD by ASA; AC = BC, /A = /B (Given)
£ C = £C (Reflexive Prop. of =) AACE = ABCD (ASA)

25. AWYX = AZXYbyHL; WY LYX, ZX LYX, WX =ZY
(Given) LWYX and £ZXY are rt. 4 (Def.of 1) XY = XY
(Reflexive Prop. of =) AWYX = AZXY (HL)
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